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W Boson Mass Shift From New Physics

A Fermi Constant determined from muon decay
A Very precisely measured

I 7 = Tu = 2.1969811(22) x 10° s

Gr = 1.1663787(6) x 107° GeV !




W Boson Mass Shift From New Physics

A Fermi Constant determined from muon decay
A Fermi constant inpu?,  predicted

G_\/g — 2M71%1?3%V (1 + AT)

A This defines way to changi/yy
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W Boson Mass Shift From New Physics

A Fermi Constant determined from muon decay
A Fermi constant generally taken as input

A Example: Supersymmetry
A Correction now in term so S, T

Myw = (Mw)sm (1 + lig (=35 + C%VT))
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